LOSUNG zu bsp-5294-1/SBRT

Arbeitsblatt

Kostenlos auf dw-aufgaben.de

Aufgaben-Quickname: 5294

Aufgabe 1

Bestimme die Teiler von...

a) Tog = {1,2,3,4,6,8,

¢) Tsg = {1,59}
£) Tos = {1.5,11,55)
i) Tog = {1,20}

Aufgabe 2

12,16,24,32,48,96)
d) Tg5 = {1,5,17,85}
g) Tyg = {1,89}

i) Tug = {1,2,3,4,6,8,

Bestimme die Teiler von...

a) T1g = £1,2,5,10}

d) Thg = 1,2,3,6,9,18}
g) 13 = {1,3}
Aufgabe 3

h) T13 = {1,13}

b) T4 = {1,2,7,14} c) Tg =

Bestimme die Teiler von...

a) Tog = {1,2,13,26}
d) Tos = 1,23}

g) Tyo = {1,2,3,6,7,14,21,42}

i) T15 = {1,3,5,15}
Aufgabe 4

b) To; = {1,3,7,

e) Ths = {1,5,25}

Bestimme die Teiler von...

a) T71 = %1,71}
d) Tr9 = 11,79}

e

g) Tyo = {1,2,3,6,7,14,2
) Teq = {1,2,3,4,6,7,1
26

i) Trs = {1,2,3,6,13,
Viel Erfolg!

www.dw-aufgaben.de

f) T30 = {1,2

28.07.2013

b) Tyg = {1,2,23,46}
&) Ty = {1,2,31,62}
h) Ty = {1.2.4,11,22,44)
12,16,24,48)
{139}
e) Tog = {1,2,4,5,10,20} f) T1g { 19}
i) Ty7 = {1,17} ) ={1,7}

21} o) Tyg = {1,7,49}
3,5,6,10,15,30}
h) Ty = {1,2,4,11,22,44)

) Ty = {1,2,4,8,16,32}

j) Tho = {1,2,4,8,16,32}
b) Tog = {1,3,9,11,33,99} c) Tos
) Trs = {1,3,5,15,25,75} f) T3g
1,42
,14,21,28,42 84}
39,78}
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